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SECTION - A
i) General Awareness

1. Garampani sanctuary is located at 8. The device used for measuring
(4) Junagarh, Gujarat altitudes is
(B) Diphu, Assam (&) Altimeter
(C) Kehima, Nagaland (B) Ammetar
(D} Gangtok, Sikkim (C) Audiometer

(D) Galvanometer

2. The chemical name of chloroform is F
{A) Sulphuric acid 7. Headquarters of UNOQ are =ituated at
(B) Sodium carbonate (A) New York, USA
(C) Sodium chioride (B) Hague (Netheriands)

(D) Trichloromathana {C) Genava
h (D) Paris

3. Fedaration Cup, World Cup, Allywyn
intarnational Trophy and Challenge
Cup are awarded to winners of

8. How many Lok Sabha seats belong
to Rajasthan 7

(A} Tennis (A 32
(B} Volleyball (B) 25
(C) Basketball (C) 30
(D) Cricket (D) 17

9. India's first nuclear blast at Pokhran

4 The fi '
g first Muslim President of the in Rajasthan ook piace In

Indian National Congress

Al 1
(A} Azad i
(8) 1974
(B M A: Jinnah (€) 1564
(C) Rahimulla Sayani (D) 1954

0Dy AP Abdul Kalam
10. India became a mamber of the United

5. Filana is caused by Mations in
(&) Bacteria {A) 1945
(B} Mosqguito (B) 1947
{C) Protozoa {C) 1959
(D) Virus _ 0] 1860
Ar 4-
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) WA AR
1, T - T fEm 6 FUE O FENAH FE B
(A) AV, TETH (A) TR
(B) faw, s (8) i
(C) =T, AT (C) s
(D) T, TafEen (D) T |
2 FENIET o] TR AT 7. AU T e g e :,
(8) e e (A) =g ufs, s |
(B) wifEm FEEe (B) & ()
(C) AT R () Fafis
! (D) SREREE D)
3. EtEEEy, 90 ¥, SElE e 8 T e R e 7
i (A} 32
w1 wa (o = e E
() =
@) afemEr (C) 30
Yl (D) 17
(C) TR
(0) e 0. TIEEAT % TR I o e
4 T R ety s i Y- 2 5 7 g
(A]  FATERE (A) 1884
(B . w (B) 1974
(c) e (C) 1964 L
(D) U, i, H. argE He (D} 1954
5. THTEE T R 10, TR T T F AEE IE A =
() wEefn (A) 1945 ;
(B) WeR (B) 1947
(C) ViR (C} 1958
(B) == Dy 1880
As .
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11.

12,

13

14

15,

Kiran Bedi received Magsasay
Award for governmant servica in

(A) 1992
(B) 1993
(C) 1984
(D) 1985

Kiran Bedi is

{A) first woman |AS officer
;[Ei} first woman |PS officer
(C) first woman advocale
(D) first woman judge

Sheikh Mujibur Rahman is a well
knm:n freedom fighter of

(A} Bangiadesh

(B) Myanmar

(C) Pakistan

(0O}  Atganistan

Tha Centre for Cellular and Molecular
Biology is situated al

{A) Patna

(B) Jaipur

{C) Hyderabad

(D) MNew Dalhi

Which of the following Akademis
15 responsible for fostering the
development of dance, drama and
muse ndndia 7

{A} Mational School of Drama
(B] Sangeet Akademi

(C) Sahitya Akademi

(D) Lalit Kata Akademi

Latest Sarkari Jobs, Govt Exam Results,
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16.

A 0 0
#

In which of the following festivals are
boal races is a special featura 7

(A) Onam

(B) Rongali Blhu

{C) Navratr

(D) Pongal

In India the first television programme
was broadcasted in

(A} 1959

(B) 1968

(C) 1976

(D) 1957

The owner of Star TV is

(A) Rupear Murdoch

(B) Tata Group

(C) Richard Attenbarough
(D) George Lucas

Aurangzeb spent nearly 25 years in

Deccan, because

(A) Hewas totally free from North India

(B) He wanted to shift his capital In
South

(C} He wanled to check Maratha
axpansion

{0} He was nol secured in his capital

The incident of Chaura-Chauri is
agssociated with

(A} MNon-cooperation movement
(B} Aravall mountain

(C)  Quit India Movement

(D)  Revolutionary Movement
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11.

12

13

14

15

321 &1 werl @ & fo e
QT B8 #Te T

(A) 1292

(B) 1993

(C) 1994

(D} 1895

T aE #

(A) RS HIEE STEUTH A

(B) et i SvEivE AR

(C) e wiEen uEaTE
(D) et aie =

T8 T TRAT §H U ha T
T Y ‘

(A) TAWTEER

(B) Tmm

(C} TTiERETH

(D) FEHER

FifErEm s snfrm Fa-Sae S
fom e

{A) T

(B) Y

(C) e

(D) 3 fewett

f o & wel sl wEE § 9,
HyrE A e ?

(A)  ATIE S ST g

(B) HitE TRl

(C)  wfira s

(D) =l T e

16.

17.

14,

19

20
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= 5 8 =i wien § el 1 e
forirs s T B 7

(A) =TT

(B) e g

(C) ]

(D) e

WA TET 2161 W 55 A 830
(A) 1959
(B) 1985
(C) 1876
(D) 1857

T # o AT §
(A) T HER
(B) ZETHEEE
(C) TS v
(D) FETFEE

s 3 TaEe | #9425 Wi A,

T

(A) = Iedt YA | qofa: we

(B) T8 AW Ty = | awsl s
=TEdl 91

(C) 8 waral & fawan w B s @

(D) T AT T § i e

- g geE srafie 8

(A) STHETEHITA STEEA

(B)  FEE TEA

(C) WA BIE WIEEH

i bl -, P e —
o I T GE A IHEE
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21,

22

0 0 0 0 OO O s

ii) General Intelligence and Reasoning Ability

Here are some words ransiated from
an artificial language.

tamceno means sky blue

cenorax means blue cheese

apimitl means star bright

Which word could mean "bright sky” 7
{A) cenclam

(B) mititam

(G} raxmitl

(D) aplceno

Pen is to poet as needle is o
() Yread

(B} button

(C) sewing

(D) tailor

Directions for Q.No. 23 and 24 : Each
question has an undarined ward followed
by four answer choices. You will choosa the
word that is a necessary parfl ol the

| 2

24.

underiined word.

ilinerary

(A) map

(B) route

(C) travel

(D) guidebook

orehesi@

(A} wigiin

(B} stage

(G} musician
(O} sololst

Latest Sarkari Jobs, Govt Exam Results,
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Directions for Q.No. 25 to 27 : Each
problem congists of three statements. Based
on the first twa statements, the third

staternent may be true, false ar uncertain.

25,

26,

All spotted Gangles have long talls.

Short-haired Gangles always have
shorttalls.

Long-tailed Gangles never have sharl
hair.

il the first two slatafrrﬂnts-. ara trua, the
third statement is

(A)  true
(B) false
(C) uncertain

(D) cenain

All Lamels are Signots with buttons.
No yellow Signots have buttons.

Mo Lamals are yellow,

If the first bvo stalements ara true, the
third statement is

(A) true
(B} falsa
(G} unoerain

(D) certain
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21, T TS A F IR W EEHE | Friw (w25 R 27) c vEm me A e

E B
tameano %1 Taed 2 TR s HIFICTE & | et 21 el % SeIm e o A
cenorax 1 WieTd & =L ATE o, BT aFEE s aea 2

aplmitl =1 WeET @ W a2

e ¢ 25. ol Feriiam wraaei < d e 2t

(A) cenotam F0 AT e 10 S E # |
(B) mititam
(C) raxmit A IBET oRes i of rwy aeETe
(D) aplcenc TR BI 8 1

22 Eﬂf;‘?ﬁf%ﬂwﬁﬂﬂﬂ afe wget #t e T A v
(A) = (A) &9
(B) =
(©) fed (8) H{3
(D) st (C) sfafrem

i (w. %, 23 3w 24) ; v v B (D) Fifwra

mﬁmmﬁ s e an Teli T R
™ ¥ | TEifE wes W A wm A wsE | o8, Bl SR T F wya AR A S

= |
23, fpumm et fiee % mzs 2
(A) M T et
(B) =i wiHE el 78] B |
(C) =mm i :
(D) TEEgE TR uEe 2 e we R A, e e R
24. AE-HIET vy
(A) amEfoE (B) ==
(B) = =
(C) iR (C) kT
(D) e aTE (D) fafram
A S
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27. The hotel is two blocks aast of the Directions for Q. No. 30 and 31 : In each
drugstore. series, ook for the degres and direction ol

The market is one block west of the | change between the numbars. In other

hatel, words, do the numbers increase or decrease,

| The drugstore is west of the market. and by how mugh

if the first two statements are true, the

third statement is 30. Lookatthis series: 8, 6,9, 23, 87, ..
(A) true What number should come next 7
(B) false o
(C) uncerain (A) 128
(D) certain (By 228
28. Arrange the following ina meaningful (C) 324
saqyence | (D) 429
1. Polica
2. Punishment 31 Look al this series: 58, 52, 46,40, 34, ...
S Crme What number should come naxt 7
4. Justice
5. Judgment (A) 28
(Ay 1,2.3,4,5 (B) 28
(B) 3,1.2, 45
3 i 20,484,892 (C) 30
(D) 54,321 (D) 32
29 Arrange the followingina meaningful Directions for @. No. 32 to 35 : Look
EEqUE:I'IGE 2
1, Country carefully for the pattern, and then checosa
2. Furniture which pair of numbers comes next
4:  Forest 39 111414 17 172020
4. Wood
5. Trees (&) 2323
(A) 1,3,54,2 (B) 2328
(B} 1.4.3,2.5 _
21 24
C) 2.4,31.5 ) 2
(D) 52314 (D) 2424
As 10
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zaé ) ZFW R T 1 31 9 s A
FEARl

rze 1 ufvem £ 3 uE e A
HANE |

TR F A A F A

I e 1 A e B AL, A weA R
(a) =

(B) #H2

(cy wffrm

(D) e

Forer =t syt @ | HaTE |
B

2. w4l

3. 3T

4. =4

5. e

(A) 1,2,3,4,5
{B) 3,1.2,4,5
(C) 3,1,4,52
(D) 54,321

e = i SR W HEET
gl

=i

=T

viehal
T3

moE WM

(A
(B}
(C)
{0

1,3, 542
1.4.3, 25
2.4 3 1.5
5:2,3 1,48

JOD-31/PGT-PHYS/X-14

Fror (w. &, 30 31T 21) © TS e d HEnl
F ore % Tear o unt @ T oo |rE
#fan | maers £, HEEnt wg W oa g, 3N
R

30, Y18, 6,9, 23, 87, ... T I HEAT |
2 |
(A) 128

(B) 226

(C) 324

(D) 428

I[EAT 58, 52, 46, 40, 34, .. ¥ T
TR 7

{A)

31

26
(B) 28
{C)

(D)

30
32

fraw (w. . 32 # 35) : 723 =1 =@ 1 =fan
it el wE Wt A it |

32 111414 17172020

(A) 2523 :
(B) 2328
(C) 2124

(D) 2424
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33, 2444416388

35.

36.

(A)
(B)
(C

(D)

17

(A
()

1012
35 a2
34 9

3510

321929 21 2623
2525

21 22

4

(C)

(D)

17
(A)
(B)
(C)
(D)

2325

20 22

1414111188
85
52
82

35

R0 0 0 O WO

a7, QPRS :TUWV JIKL: 7
(&) MNOP
(B) MNPO
(C} NMOP
(D) NMPO

38, FJUL:BOQO  LHRX 7
(A} BKPR
(B) MNCC
(C) HRYY
(D) HMNC

39. 21:3:674:1
(A) 23
(B) B2
(C) 97
(D) 118

Directian for Q.No. 40 : Choose thal set of

numbers fram the four altarnative setg, that

the others ?

(A)
(B}
(G}
(D)

leopard
cougar
alaphant

sty

Vacancies and updates on one click

40. (14,23, 32)
(&) (15,23,31)
(B) (14,18, 24)

(G} (13,21, 29)
(D) (12,21,30)
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27 2444418388 97. QPRS:TUWV @ JIKL : 7
(A} 1012 (4) MNOP
(B MNFOD
(B) 3532
(C) NMOP
({C) 348
(D} NMPO

h
(D) 3510

38, FJUL:BOQQ :: LHRX : 7
24, 17321929 21 26 23 k

(A) BKPR -
o B) MNCC
i | 2122 (C) HAYY
(C) 2325 (D) HMNC
(0) 2022 39, 21:3:574:7
(A} 23
35 171414111188
(B) 82
(A &5
(C) o7
(B) 52
() 113
(C) 82 o _
frdor (w. =, 40) : T2 & #en agE T A
(D) 55

s o, Fawed o # 5 i |
5 FrEm A=A A=Y
» W AN 40, (14,23, 32)

Sl {A} (15,23, 31)

1

B} FH (B) (14,19, 24)
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41,

42,

43

dd,

(©

The difference betwean the length and
breadth of a rectangle is 23 m. If its
perimatar Is 206 m, then its area 8
(A} 1520 m?

(B) 2420 m?

(C) 248B0m=

(D) 2520m*°

The average weight of 18 boys in a
class Is 50.25 kg and that of the
remaining 8 boys is 45,15 kg. Find the
average weights of all the boys in the
class.

By 4755k
(B) 48Kkg

(C) 4B.55kp
(D) 49.25kg

If the simple interast on a sum of
manay lor 2 years at 5% per annum
15 Rs. 50, what ig the compound
interest on the same at the same rata
and for the sama time 7

(A} Rs. 5125

{B) Hs. b2

(C) Rs. 54.25

(B} Rs. 60

From & point P on a level ground, the
angle of elevation of the top of a tower
is 30°. If the tower is 100 m high, the
distance ol point P from the foot of the
tower 15

(A} 149 m
173 m

(B) 158m
(D) 200m

43.

47,

48.

49

DDA OO 0

iil) Arithmetical and Numerical Ability

The smallest prime number is
(A) 1 e 2
{C) 3 D) 4

Two tallors X and Y are paid a total of
Rs. 550 per waak by their employer.
If X is paid 120 percent of the sum
paid to ¥, how much is Y paid per
week 7

(A) Rs. 200

(B) Rs. 250

(C) Rs. 300

(D) MNone of theses

How many 4-letter words with or
without meaning, can be formed oul
of the letters of the word,
LOGARITHMS', if repetition of letters
Is not allowed 7
{A) 40

(C) 5040

(B) 400
(D) 2520

A large tanker can be filled by two
pipes A and B in 60 minules and
40 minutes respectively, How many
minutes will it 1ake to fill the tanker
tram empty state i B is used for hal
the time and A and B fill it together for
the other half ?
(A) 15 min.
(C) 27.5 min

(B) 20 min.
(D) 30 min.

A bag contains 4 white, 5 red and
& biue balls, Three balls are drawn al |
random from the bag. The probability
that all of them are red, is
(A) 1/22 (B)
(C} 291 (D)

322
2177
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41,

4.

43.

a4,

(C)

U A i EEEE SR S S
o3 e 2 | aft s aftf cos Him e A
THE T B
(A} 1520 =¥
(B) 242041
(C) 248012
(D} 25203

TE FH F 16 HEF| F) HHa T
50.25 .. & i = ¥ 8 FSH #1 8
45.15 . | et e s
FHA AT T |

4
(A} 47.55TFm
(B8) 48fEm.
(C) 4855 f&.m,
(D) 49.25 FEm,

afe v 1l W S o & fFu s wEmn
A 7 H T =E 50 5 e & A I
i w2 e AR 3T EE D &
Tehata =T R e 7

(A) 51.25%

(B) 52%.

(C) 54.25%.

(D) BO%

waae FHAF P g @ v 2 F famw
F1 I F19 30° § | 3@ 39 T H
e 100 H1, &, 71 20 % S H P

g #1503
(A} 1437 (B) 1564
173 Hi, (D) 2007
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SAAY ST HEA
(A} 1
(C) 3

X W Y T 9 2l w3 "
el 5505, Wi g aan @ | 4l X, ¥

By 2
(D) 4

H19 T I 120% e B at v =
ufg ew fead ofn oedi 2 7

(A} 200%

(B) 2507%.

{C) 300%

(D) 399 E =g T
LOGARITHMS' =2 F =18 =1 A
e £ A =W spEe sty =
A e e T W HE w1

(A) 40 (B) 400
(C) 5040 (D) 2520

UF T2 ZHI F A N B TS F OEN
#H9 80 ¥ 40 fo=a1 1 wo w1 T
2 | 35 wrelt 7561 =i i T 9 Ty
# B & I w1 off g I wea o
A 31 B EHT o 39 e 8 O

Wi = forn e e o @ 7
(A 15 == 8) 20
(C) 275z (D) 30 ==

w= St | 4 WS, § T 30 6 1 01
F e 3o 0 8 3 T2 e A
B frr o § | f e e F e
1 {2
(A) 122
(C) 281

3722
2177

(B}
(B)
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50. Ayesha's father was 38 years of age

5.

52

53.

55,

when she was born whila her mother
was 36 years old when her brother
four years younger to her was born.
What is the difference between the

ages of her parants 7
(A) 2years (B) 4 years
(C) 6 years (D) Byears

What will be the least numbear which
when doubled will be exactly divisible
by 12, 18,21 and 30 7

(A) 196 (B)
(C) 1260 (O)

The preduct of two numbers ig 120
and tha sum of their squares is 289,
The sumgof tha numbaear is

(A) 20

(B 23

(C) 189

(D} None of these

630
2520

How many seconds will a 500 metre
long train take o cross a8 man walking
with a speed of 3 kn/hr in the direction
of the mowing train If the spaed of the
train is 63 km/hr 7
(A) 25

(C) 40

(B) 30
(D) 45

A shopkeeper expecis a gain of
22 5% on his cost price. If in a week,
his sale was of Rs. 392, what was his
profit ¢

(A) Hs. 1820 (8) RAs. 70
(C) Rs. 72 (D) Rs. 8825
The fourth proportional ta 5,8, 1518
(A) 18 (B 24

(€) 18 (D) 20

S6.

57.

59

1 0 0l M

A certain amount earns simpie
interest of Rs. 1,750 after 7 years. Had
the interast bean 2% more, how much
more interest would it have eamed 7
(A) He 35

(B Rs.245

{C) Rs.350

(DY Cannot be determined

In what ratio must water be mixed with

milk to gain 155-% on selling the

mixiure at cost price 7
(A) 1:B
(C) -2:3

(B) 6:1
(D) 4:3

It takes eight hours for a 600 km
journey, if 120 km is done by train and
the rest by car. It takes 20 minutes
mare, if 200 km is done by train and
the rest by car. The ratio of the speed
of tha train to that of the cars is

(4} 2:3 (B) 3:2
(c) 3:4 (D) 4:3

An accurate clock shows 8 o'clock in
the morming. Through how many
degreas will the hour hand rotate
whien the clock shows 2 o'clock in the
afternoan 7

(A 144° (B)
(€) 188° {D)

A large cube is formed from the
matarial obtained by melting three
smaller cubes of 3, 4 and 5 cm side.
What is the ralio of the total surface
areas of the smaller cubes and the
large cubs 7
(A} 2:1

(G} 25:18B

150°
180"

(B} 3:2
(DY 27:20
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51.

B2.

54

55

A

= TN T A FAT 70 IEF T
&1 3 38 =t off | IEH T A B
WTE & WA AW BH T TG W ] I
36 a4 ot | 5 T i e i 3w A
TeRe S R 7

(A) 29T =
(C) &% (D)

1 arefl & @@ IEE 12, 18, 21 T30
H Ui W T £ 7
(A) 196
(C) 1260

4 |/
8 HIe

(B) 630
(B 2520

uf? 2 JEnsl 1 vEEs 120 # il
ﬂ—mﬂaﬂmEBH%m:ﬂmm
FIIEEM

(A} 20
(B) 23
(C}) 189
(D) 5 8

T 500 oier e = 63 . e
iaTe ! & ol o ol [EET a3 T,/
U A ST A R e
fa e = g = 7

(A) 25 (B) 30

(C) 40 (D) 45

UF FHAER FA-EE W 22.5%
AT A ¢ | AR w4 seh R

362 T =R off 71 T AE B o ¢
(A) 18.207% (B) 70%
() 727 (D) 88.25%.
5, 8, 15 1= @RI 2

(A} 18 {8) 24
i) 19 o) 20

L A

a7,

59,

JOD-31/PGT-PHYS/X-14

TR 1181 9 7 HTo1 o S =T 1 750 5 B

e =ara ot 2% Frhas wid a1 38 T

e w4 wTes B

{A) 35%

(B) 2457%,

(C) 3507% .
(D) Fafrem = w8 =T aEm »
182% e v ¥ forg 3w  feer
ngqmﬁqm%mmmﬁ?urm f
TR -1 W == SR

(A) 1:8 (B) 8:1

i) 2:3 (D} 4:3

T+ 600 . g & B 120 B

A H ST A FEE A e
qu2 = # | 4f2 200 fEA 39 @ s
AR 1w @ T w | 20 e
AT 75 T 8 | 29 TR F

1 AT

(A) 2:3 B) 3:2

(C) 3:4 (D) 4:3

U 5 GA% F W3 T T A0 & S

B | ET9ET % 21 w9 e o o v o o L
Pt Fiaft s 7 |
[A) - 1447 (B) 150° :
(C} 188 (D) 180°

3, 4 3 5 H ). FrgaitarS A wre o
i:]-:-"l AT 34 T=F 9= 5+ F4149] i1
BRI R TS T s EE T

T S FSIA B
() 2:1 B) 3:2
(C) 25-18 (D) 2720
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iv) Test of Language : Hindi

WTHT TiEm : fieh
Frefafian 7o & 390 g fafay | Fames s 70: 5 F wrfi a5t
61, 30 8 e ait yra e ? 69. ™ + 99 = WEE
(A) wfrfE (8) anffw () =AEfy (@) fetaf
(C) =i (D) 3t (C) Frgwm (D) T HEM
" 62. o wIwAigETHi 8 70. T+ %1 = T
: (A) = (B) =\ (A) =aE-d (B) fawiafy
| (C) Fme (D) % (c) Ffewh (D) w=rEf
= 83, ‘v = faemana 7 1. o= A g it T I i i
(A) (B) = 77 ) 1 T 7
(C) e (D) =g (a) = (B) 3rg T

64, wiaga dema, wwd (C) 3wt 3 o D) T

(A) TER (B) 3 72 N faEE & Tl & ST w5
(C) ¥eas (D) T fﬁﬁmmﬁrnﬁaﬂtéﬁlﬁa’rmﬁﬁ
: | e e s
85. fmmfrsfifaaa 2 | T e = o T e ah
(A) F (8 e sl fFdi fommasn R
(C) | o) fa=m rereaEn Hit-offt mi g T
66. I[@ AT T FH | fg} :;fm tg} ﬁ?ﬁﬁ
(A) e s o %) ' e
(B) imn 3mE st = | 73. @ e asmant?
(C) e g st & = (A) RfaEm (B)
(D) it == 78 37 354 Fa | (C) et (D) Tt
67. 31E WA - 74 ‘o fEmEE
(A)  E A (B) wiger e (A) =T (B) RPN
(C) a5 (D) TEER (C) il (D) ==
68, Y+ dmEI AR Ed 75 'HiY ®AEYE FIE
(&) Fmam (B) =AM (a) e (B) T
(C) AT (D) =W (C) H= (D] =9
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Jﬁﬂﬂﬂ!lﬂﬂ[ﬂ (T

76 — B0 ; 3TUlZA AT
fre=fefiaa s=mm =1 wregEs 13 o 30
HeE i W] o 3 fn - faeet # @ vl
fereea =) =9 e
Em 9 S AU AT % EE we
3 £ o v i e )
mﬁﬁﬁim&aﬁwlﬁaﬂﬁ%hﬁun
TR T M} U F A G A 2 | 95 e
Taraw W =1 <fta g Foren e e &, 3 @
T 3T U B H w w g | g e
Tt A g 3 Wit o arfem e w
G = A E | 5 AR S wen W as e
wita =i Fore =1 aven g il =0 § g
Fie & 3417 30 71 g marrmﬁrram
e Rl ST o 5 B | Al
fa 3 = & o e e T Lrﬂ
mm“m%aﬁwﬂ:fm
: T TP T
ﬂmlaﬂmﬁmﬁﬂmﬁﬁamwgmmﬂg:
Torr srfeat 0 e svfR 20 TaEl W
T % £ 1 36 | g an dowen 4, e
=1 3 HM WE fe W S Wi
T Wil o = & | forg e v #
aﬁmﬁqﬁ"rﬁmﬁfﬁm#aﬁﬁaﬁu
T 3 el A aa w9 o e e
=1 HE W TE (W 9 | 39 8 F3 12 39,
80 iz = 9| 89 iz 73| 7 oA T
fifem T 6 a1 7 =i v ot war #irft o
Tt & o g T A | 39 E o fiee T
ol S afe faet == e o s
o1 § IE 2 39 Fal | TF 30 Tl F 1 FEE
ity fermen o et e 3 e g % e
a1 T 4 8 F2 3% fowE s Am g
e & = & g0 Y e v o gt o
ﬁmﬁﬁwﬁnﬁﬁzmﬁwwiﬁm
qefeai Faue 8 71, 9 ugiEa) #van; 3 =
Haf F e e F R, 5
EET =TT FE Y S‘“‘—ﬂ"_""ra-'_ur‘-["'lil‘-[
Ax

JDD-31/PGT-PHYS/X-14

FrEAwT e o i 4, ah gef S mi

W TR HE ST 9] W1 | 3ok T4y 1 B2

A T %9 8 3 S w smnft & awe

Wi T3 7 1 g e T A et 2

76. sfoem =7 ammma = &% o s A
& s o ST R

(A) IITH ST o G A I
Eak el
(B) :ﬁﬁﬂ%hﬁwﬁvﬁﬁmmﬁmﬁ

(C) il =i swa = = yaf
(D) &7

77. EWEEE F B A e e g
(A) T O o g s
(C) antﬁafqaﬂﬁaﬂrﬂ‘rﬂm

(D) M?E‘Fﬂﬂﬂ?’aﬂ’ﬂﬂ?}ﬁﬂm

7. TEIW FiE s = i | daf
T AR |
(A) 3% SETRT TR T G S
(B) i Sit = 291 =)
(C) % AFam =0
(D) FErEmE!

79, EREAEE 3 T et g e
% 1o & o + = aHE e e

(A} T ST A F A # T
fau

(B) TE 3= gt AwH & o d
(C) aaﬁiﬁrmﬁamaﬁﬁﬂr
(D} =8

B0, *TETH w1 3ha e WAy |
(A) T it g
(B] SEAWEE
(Cy il gl

0 et F v

«18<
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v) Test of Language : English

JOD-31/PGT-PHYS/X-14

T QGO ;@ STt
81. Change the Passive : James Watl Directions for Q.No. 86 and 87 : Compiata
discovered the energy of steam. the statament.
(&) The energy of steam discovered
James Walt. 86. Because he believes in democratic
(B} The energy of steam was principles, he always ......
o jlefmme;w;:tﬁ;:g:fnxﬁ e (A) decides all the matters himself
E i 2
energy of steam. (B) tﬁlan toothers views and enforces
{D) James Watt had discovered e :
anergy by the steam, (C) shown respect to others opinions
if they match his own
82. Select the pair which has the same D) reconciles with the majority views
relationship ARMY:LOGISTICS =) and gives us his own P,
(A) business: stratagy
(B) soldier ; studaents 87. With great effarts his son succeeded
{C) wqr: logic n convincing him not to donate his
(D) team : individual antire wealth to an arphanage ...
. ; A g th
Directions for Q.No. 83 and B4 : Choose ¥ fnr;mhaai? SRS S A
the word which is the exact OPPOSITE of
the given wards. {(B) but to a home for the forsaken
children
83. DEAR _ {C) and make an arphan of himself
(A) Prceless (B) Free (0} as the orphanage needed a ot of
(C) Worthless (D) Cheap donations
B4. ‘Tﬂaﬁ‘”“r 8B. Find the correctly spell words,
iEJ ﬂﬂmh 3{ (&) Schedulle
EC: E;’::f's[ﬁc? (B) Schedeule
(D} Gentlemaniy (), Skl
{D) Schedule
85. Directindirec! speech - Dhruv said
that ha was sick and tired of working BY. Find the correctly spalt words.
fior that campany. (A)  Skiitful (B)  Skillfull
(A} Dhruv sald, "1 am sick and tired of kilull i
working for this company,” o e i), Snpull
(B} Dhruv said, “He was tired of that | 90, Tobe the question
company.”
(C) Dhruv said to me, "l am sick and {gi IG :e;erftn el
tired of working for this company.” { . KT : gool) ;ran B
(D) Dhruv said, *1 will be tired of (C} To raise objections
working for that company.” {D] To be discussed
Ax -20-
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Directions for Q.No. 81 and 92 : One Word
Substitution.

a1,

g2

93.

One who is not easily pleased by
anything

LA
{B)
(C)
(L)

Maiden

Madiaeval
Precarious
Fastidious

A remady for all diseases

(A)
(B)
{C)
D)

Stoic

Marvel
Panacea
Recompanse

Ordar the words : It was 1o be

P - before their school examination
O : which was due o start
R : the last expadition

S ina month's

(A)
(C]

SRQP
RPUS

(8) RQSP
(D) SPRQ

Directions for Q.No. 84 and 95 : [dentify the
arror, (Solve as per the direction given above)

84,

(A)
=
(C)
(D)

(Al
(B
(C)
(o

When (he dentist came in

My tooth was siopped aching
Owt of fear that | might lose my footh
Mo arror

It iz the duty of every citizen 0
do his utmost

Ta defend the hardly-won
Freedom of the country
Mo error

JDD-31/PGT-PHYS/X-14

Directions for Q.No. 96 and 87 : In the
following the question choose the word
which best expresses the meaning of the
given word.

86.

a7

28.

89

100,

-

Latest Sarkari Jobs, Govt Exam Results
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INEBRIATE
(A} Dreamy
(B} Stupefied
(C) Unsteady
(D) Drunken

STERILE

(A} Bamen
(B) Arid

(C) Childiess
(D) Dry

| listaned, but | had no idea what he
Was ___about

(A)
(B)
(<)
{0y

saying
talking
leiling
discussing

The car In which the minister was
travelling ___ with an accident.
(A} it

(B) drove

(C) crashed

(D) meat

Tha non-co-oparative attilude of the
mambers can only thie
image of the society.

{A) spoll

(B} Improve
iC) degrade
DY deframe
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SECTION - B

| A I I R 0 .

Post Specific Subject-Related Questions

101. Thermal expansion of materials 105, The wave function of a particie in a
assically forbidden region is
arises from lassiraliy forsidd gion |
(A} Strong bonds : )
(B) Thermal vibrations A agnmminaion
Ec} \Weaak bonds |:E} a cosine funclion
(D) Asymmelry of potential energy (C) an exponential
e (D} zero
o 102, ThaC ton effect tefls that a photo
Facs wR prsen 106. The dispersion relation for
(A} energy electromagnetic waves in cerain
(B] momentum medium Is given by o = ak, where
(C) Intringic spin 'a’ is constant, ‘o’ ig the frequency
(D) angular momentum and k' Is the magnitude of the wave
108, In the firet exciied state of af vactar. The velocity of energy
one-dimensional harmenic oscillator propagation in this medium is
with angular frequency o, the anergy oa
gigan value s (Al -
.I.
[ —lr? 1
™ e ® =
5}
B) —ho
2 c) a
l (C)  hw d 2t
| (D) i
._ 104. A current amplifiaris characterised by .
) :’uwtp::; ?;;;Efﬂiance ane high 107. U the atomic mass of deuteran iz
outpul impedance (A} 4.448 MeV
(C) low impedance at both Input and (B] 6.663 MeV
output terminals
o
(D} high impedance at both input and (C) 2224 MeV
output terminals (D) 1.02MeV
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101

102.

103,

104.

JDD-31/PGT-PHYS/X-14
T - o
e wfafes frrg -t oo
T F FufE P I A | e gfer afeta &3 4 v w0 o i wem
(A) ToEa oY SaIE
(B) Fefta e
) e (A) HETEA A
D) Teufes sl s R (B) T e
(C) =M™
ez uftoe A B e g aE R D) 9
(A) F
(B) wEm TP, -
e i 106. ﬁ@amﬁﬁ%@gﬂmmﬁ
o 3_'_“"“@'5,,_ qism w39 aiE fad) T @ .
u* =ak, 58 ‘a’ BOwE, ‘o' AFRR
- B o 2 e B . K TN EFR FIOETE | T EEEg §
e s et 3 e = et arvra T S A R
3
>
(A) Zho 5
3, (B) —
[E} Enu i
(C)  he a
E e
D) Z2hm % &
- © —
we: Forga s o e Bt e
(A) = FEm afEn st = ol
T 107, i = e e 2.0141020
(B) 379 FEw wfmmy s fma fofa Rt e e e it
FIEE (A) 4.448 MeV
() FEw ok Gfe &1 fadf w B (B} B.663MaV
VIGELR ; (G} 2.:224 MaV
(D) Tt e e et e e 3= wieaman | (D] 1.02 MaV
23
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108

103.

110.

117,

Tha Larmar frequency for an electron
in the n = 2 state of hydrogen placed
in a magnetic field ol strength one
tesla is

(A} 4.4%10'%rad/s
(B) 88x10"0radls
(C) 1.1 x10"rad/s
(D) 5.5x10'0 rad/s

The coliision time for eiectran
scattering in pure Ag (Ep =5.5eV) at
300 k is 10~ s. The maan free path
of electron is

(A) 9.4x107%m

(B) 1.38x10%m

(C) 33%x10%m

(D) 42%x1078%m

The guanium mechanical operators
of two observablas commute.

It implies that

(A} We can measure both quantities
simultaneously

We cannol measure both
guantities simultaneously

No conclusion can be made about
thetr simultanaous measurament
These are canonically conjugate
guantitias

B)
(C)

D)

In a Helium-Neon |lasar, the faser
transition takes places In

(A) He atoms only
(B] MNe atoms only
{C) Either He or Ne aloms
(D) Both He and Me atoms

Latest Sarkari Jobs, Govt Exam Results,
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112.

113,

114,

11b.

116.

T

In quanturm mechanics a paricle |s
represented by a

(A) Wave

(B} Wave packet

(C) Particle

(DY Nothing can be said

Broadening of spectral lines also
occurs due to the

(A} Position — momentum uncertainty
(B)
{C)

Energy — time uncartainty
Angular momentum — angular
displacement unceartainty

(D) MNone of the above

In & optical fibre cable, the signal is
propagated along

{&) thecore

(B) the cladding

(C) both core and cladding

(D) surface of the cladding

The average lifetime of an atom in
maeatastable state 15

(A) 10793 sec
(B) 1077 sec
{Cy 1079 sec
(D) 10 sec

The units of tha Planck constant h are
that of

(Al
(8)
(C)
()

anergy

power

momentum

anguiar momentum
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108.

108,

111

A

N = 2 BIEEEA i R U s
F1 T SHE ST e S A
A 35 ET R A 2

(A) 4.4 x10'Crad/s

(B} B.Bx10'Crad/s

(C) 1.1x10'% rad/s

(D) 5.5x10'% rad/s

T A 71 300 k § WE Ag

(Ep = 5.5 V) 1 faran 2, e w0
T 10714 g B | 30 T FIATA
T E

(A) g.nmfm

(B) 1.39x10%m

(C) 3.3x10%m

(D) 42x10%m

Frfrad- e § | 98 Oeka o B

(A) T FH] WTAVSIIERT U ST A G B

(B) BT ST 0 T A A A

(C) =% U= T A & an H i e
Ti feran =1 EFa

(D) 3 Fafem we el @

Teferm -4 #i=n H, Fr FFET 554
w8

(A) = He T

(B) A Ne 97477

(C) TTAT He THIT T Ne THEIT]
(0] He &7 Ne =731 THTY

114

25-

Vacancies and updates on one click

112.

118.

1168

JDD-31/PGT-PHYS/X-14

wameen whEa d Fm = gw awia 2
(A) @

(B) & R

(C) m

(D} e 8] 9 HE

o] el e e 5 e o

B HEA R

(A TErR-—mEm sl

(B) - T

(C) FrofaEam-i frm
fafraam

(D) St e

ToFe st wes O, Tehe &1 5T
T gHTT BT 3

(A} =

(B) &

(C) =z i g T

(D} T & 78 W

S warft faufs d e )
= -Fe T 2

(Ay 10 sec

(By 1077 sec

(C) 1079sec

(D) 107 sec

e R h W U T E
(A) Fal

B) 7@

(C) T

(D] g =am
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117.  Ina photoelactric effect experiment at 121. P-type and n-type semiconductors
a frequency above cut off, the numbar can be diEIinﬂuthd by mﬂﬁﬁﬂling
of electrons aejectad is proportional to (A) Temperature dependence of
. electrical conductivity
AY  thair kinatic aner L
A = (8) Hall coefficient
: (B) the work function (C) Resistivity
' (C) the frequency of the incidant light (D)} Photeconduttivity
D) the intensity of light
© e’ 122. The probability that a particular state
b 118. Piezo-electric effect is the production having energy E is occupied by an
: alactron in metals is given by
of electricity by
(A) Ehimiaul anergy (A) HE)= !
(B) Varying fisld e [
{C) Temperature '
1
(D) Pressure (B) HE)= E _E
E
ax l __RT 1
119, If the carbon monoxide (CO)
molecule shows a strong absorption € HE) - 1
line at the frequency 6.42 x 1079 Hz ' axpl EZEe )41
then the effective force constant for \ kT
this malecule s "
D =
(A) 1.86 % 10% Nim B 75 o E=—E];
(B) 5.43x10%N/m \ KT }
3
'_ Gk B1910°Nm 123. The average energy of a free electron
(0) 9.53x107N/m in a matal at zaro Kaelvin is
120. The de Broglle wavelength of an (A E,= gEF
glactron accelarated through 50 V is
B
(A) 34A (B} EEI‘,: EEF
B) 71A 1
(C) 434 (€1 By = 7B
D) 1.7A (D) E,,=E¢

A ;
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117

118.

118.

120

v Foreg i W A {0
et s Fremfaa el o e
o1 T S T S 8

R GRGEEST

(B) = e

(C) FmafiE e AR ST

(D) TERTH i At

fral (Piezo) Tram wim 2, fgm
EL

(A) TR FE A

(B) T s

(C) *MEHE

©) =ma

afz §.42 x 103 Hz AW W A
HAEETEE (CQ) T AV Aid AFTHE
s e 2, 91 0 F T 79
ferm #

(A) 1.88 % 10° N/m

(B) 5.43x 107 N/m

(C) 8.16 % 107 N/m

(D) 9.53x 107 N/m

50 v B Tafis e S S et
g 3

(A) 34A

(B) 7.4

(C) 4.3A

() 1.?{4
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P-type 3 n-typa SY=TEE ® T8
ATER TR S Hh B

(ay T svern = A
(B) el U

(c) wfErE

(D) W FiEAEAl

E st i fefa arell sorei s W
4 1 Harsr vy d et R

1

AE ]

{A) T(E)=

(B) f(E)-

By HE)=

u § fEm I Feiea U0F T
el Tl A TET T 8

3
[A) Ey = EEF

(B) Eg=3
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124.

125,

126

A microcanaonical ensembla
reprasenis

{A) A system In contact with a heat

resenoir
(B] Anisclated system in equilibrium
(C) A system thatl can exchange
paricies with its surroundings
(D) A system under constan! exlernal

pressura

The deviation of the charge
distribution of a nucleus from
spherncal symmatry can be estimated
by meaburing its

(A
(B)
(C)
(D)

electric charnge

electric dipole momant
magnetic dipole moment
electric quadrupole moment

A sinusoidal voltage Vsinot is applied
across a saries connaction of resistor
A and inductor L. The amplitude of the
current in this circuit =

III"r--'.l

———

vA® +

(A)

—
S
m L

127.

128.

129,

Suppose temperature of the sun goes
down by a factor of two then the folal
power amitted by the sun will go down
by a factor of

(A) 2

(B) 4

(C) 16

(D) 8

Tha ground state energy of a particle
in-an Infinite square well potential of
width L is E. If the width of the well is
reduced to L/2 then the ground state
anergy becomes

(A} 2E
(B) E/2
[C) 4E
D) El4

The average distance between aloms
along the body diagonal of the
diamond cubic crystal with cel
parameler ‘a' is

av3

LA
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126

126

wF yewfafs 9 vaE T8 TaHbE
Al 8

(A) T T FT MU o W A B
(B) Te U U

(C) T 7= 1 Y TR T # T

TR -T2 1 O B
(D) W T = e e e R

THATEHR Foge o AW & =0
%1 faraem 1 oA 30§ 98 W H
GRie I REE T

(A) e =l

(B) o ey wam

(C) Feha fayga wam

() T = e

gfetg R 3t UfE L 9% g9 =
o] e Vi sinmt, -‘i‘!‘ﬁl‘r%
w0 T R T R & e &
ST

V,
e p—
VR + oL

(A)

It A
'..'l::l"-"I o

W,

© Fl+r:L

1=

o=
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o2 W 2, o gd # Seafea i aeEEi
e T1eh 31 TR ST F &

(A) 2

(B) 4

(C) 186

(D) &

e 37 &7 U 0 e EeTeE 6 e L
2, U 1 I Y =R Fel E 8
afs 5 ) s w= Lz 6 = 2,
A = Sae] HE B

(A} 2E

{B) E/2

(C} 4E

(D) E/4

W ‘o' =ars o i e s
% zfa & fl & o= ° B
TIHTIL] o ATe 1 e 8

34.1'5
A il
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a3
- G
{B) 5 |
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130. Thermocouple consisls of 134, Superconductors when cooled balow
(&) Two dissimilar metals T undergo a transition o the
(B) Two simitar metals following state
(C) Metal and a semiconductor (A} Paramagnatic
(D)  Metal and an insulator (B) Ferromagnetic
| 131. Aunitcallhasa=5A b=8A c=3A, (C} Diamagnetic
'rJ | i =80°, g =65%and v = 54°. This (D) Ferrimagnetc

unit cell is called
) 135. Boson is a particle with
(A} Orthorhombic
(B) Mgnoclinic

(G} Triclinic

{A) Integral spin
(B) hall integral spin

(D) Tetragonal (C) zerospin

(D) zem mass
132. The probabllity of finding a free

electron in Ag at 300 k at an energy 136. Tha residue of the function of complex

level 1.01 Eg (for AgEp=55eV) is 5z -2

e variable f{z) = ——— atz=11Is
A} O

{B) 0.11 A
(B) 1

(C} 0.005
) 2

L (D) 3

133. The Sl unit of electrical conductivity is 197 Thatiotrent teaton ol Paul metices s

(A) kg TmSsiA? @A) o, =,
(B) kgm®sdA~= (B) a,0,=a,
() ohmm (€) &, -0,q,=0
(D) ohm~'m— (D) T, +oa, =0

=30
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130.

131.

132,

133.

Glec R aniE
(A)
(=}
(C)
(D)

3] ST U7

21 THTH 11

T 31 W=
g 317 U S

wEEAHa=5Ab=8Ac=3A
o =90°, fj =B5° 3N y =54° 8| W0
T T T e B

EEEGCEl

AT

Fam

S

o1 BT 1.01 Ep (Ag Ep =556V
fem) W 300 k ¥ Ag T TE To w4
T F THEIA R

(A)
(B) 0.1
(C) 0.005
D) o

0.3

fare e 1 S| TR B
(A
(B)
(C
(D)

kg~ 'mYs3A2
kgm3s~Ia—=2
QMM

ahm~'m3
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s W T F i e e
= R T A ofaffa s E

A =E v E & s E
(A) FET =S

(B) 3TN THT SHYI
(C) ¥ =T

(D) Y[ T

I'J b
o = f(z) = -5: ; atz = 1% eid
Z

] 3T 2
(A) O
(B) 1
IC) 2

(D} 3

i (Pauli) T FoE w2

,:A] 0, =,

(B) G,0.=0;
157 B s
Dy o0, +o0.0,=0
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138

138

140

141,

The generating function of Legendra’s [

palynomial P(x) is (1 - 2xt + 19 .
Then P(1) is

(A} 0

B) 1

(C) 2

o Yo

Quantum mechanical wave function

of hydrogen atom contains

(A) Legendre and Hermite palynamial

{B) Legendre and associate Laguerre
polynamial

(C) Legendre poltynomiat and Bessel
fungtion

(D) Associate Laguerre polynomial
and Bessal tunction

In usual notations the Laplace
transform of () = &' is

(A) 5
(B) s°
|
€ 25
1
o 2

Fourier series which will represent
i(x) =xinthe intarval —p < x<x, hen

142.

143

144,

o AL ALS S
35 7 9 :
pid
(A) 4
B ]
T
() =
0
O o
9 3
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145.

it Al is & contravariant tensor, than its
tansor will ba

A A
8) A

(C) -Al
oy Al

The direction of propagation of a
alactromagnelic wave is given by

(A) E-B
B E

(€ BE
(D) ExB

me

If magnetic mﬂnﬂpc;ln axisied then
which of the following Maxweall's
equation will be modified 7

(A) DivD=p
(8) DivB=0
& 0B
(€) Cur E=—3
T rﬂj

(0] Curl H=J+22

Eight electric dipoles of charges of
magnlitude ‘e’ are placed inside a
cuba, The total electric flux coming

out of the cube will be

Ba
" Z
168
By
g
&
(G} =
—U
i Zara
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138.

139.

140,

141

w2 % AR P, (x) T A A
GE R (1-2xt+ ) 2 WRAP (1B
(A) O
(B) 1
{C) 2

/2
T SR 3 A S e e
CEAniE S
(A) o2 3N T & AETE
(C) ®oE SR H Swe Ho
(D) HEERf ST EETE S AHE He

TS 0% T 1) = ol T HUEE qge
FAIENR

(A) &

(B) s°

()

|

(0]

| = i

AT -n<x<n d wifET gEE

AR (x) =x T T

S

iia 7%8

s

é. +
(A)

(B)

{C)

@la miE i Aa

(O]

-5~

142,

143.

144,

145,
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(&) E-B
(B)
(C)
(D]
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E
E«B

a2 Sraia wygA € B, @ P g
TFTee w1 I T =0 dae] S ¢

(A} DivD=p
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I mi me Mmi
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146.

' 147.

148,

148,

R 3

VAV = — 4 mp tepresents
(A) Maxwell's equation
(B) Laplace equation
{C) Poisson's equation
(D) Lorentz equation

Tha potantial anargy of a central force
Is given by V(r) =hr ™ whera b’ isa
constant, 'r' is the distance from a
fixed point in space. The orbil of a
particle moving under the action of
this central force is stable when

(A) n=g5

(B) n=-4

(C) n=<3

(B) n=-=2

A particle I8 moving in an inverse
square lorce field. If the total energy
of the particle is posifive then the
trajgctory of the particie is

{A) Circular

(B} Eliiptical

(C) Parabolic

(0} Hyperbolic

If the plane intercepls lor a unit cell
are 3a, 2b and 2c then the Millar
indices of the plane are

(A} (0711)
(B) {322)
(C) (232)
(D) (233)

Latest Sarkari Jobs, Govt Exam Results,
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150

151

152,

153.

The energy of lattice vibration is
quantisad. The quantum of energy s
called

(A) Boson

(B} Pholon

{C) Phonon

{0} Lepten

Cheosa the correct statement
(A} Heal capacity is constant at low
lemperalura
(B) Heat capacity is constant at high
temperature
[C} Heat capacity s independant of
temparature
(DY Heat capacily decreases with
incraase In lemperature

There are regions of enargy for which
Bloch function solutions of wave
gquation do not exist. Thesa are
called

{A) Conduction region

{B1 \alence region

(C) Forbiddan region

(B} Plasma state

In superconductors, the energy gap
isdue lo

(A) electron-phonon interaction
iB) electron-alectron interaction
{C1 phonon-phanon Imeraction
(D) electron-photon interacton

AR A
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146,

147.

148.

149

VAV = — 4 np TR WAl F R
(A) WeRTE T R
(B) wTqet® &1 wHF
(C) o= T ai
(D) S = HHE

B St At ol e e Vir) = b
maTts 1 B, =T b R R, v ur s
7 o v s fag w2
wEE 9 FE F Hand Soae
w1 & afrm wen B d aw

(A) n=-5

(B) n=—4%

() n=-3

(D) n=-=2

o T WA i e s A gE T e |
afz 0 1 Fel T g R A w
T~ T BT

|A) FETER

(B) #EgaER

(C) W=

(D) faEt

af UF TR T % YA A= 3a,
2h ¥ 2c ¥, 71 THAE & Wiew WA
(A} (011)
(B} (322)
C) (232)
0} (233
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(B) A

(C) EHAW

(D) U

e FEA g
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154

155.

157

158,

A feature that distinguishes the
J-K flip flop from S-R flip fiop is the
(A) Toggle condition

(B) Presatinpul

(C) Type of clock

(D) Clear Input

A silicon diode is in series with a 1kl
rasistor and a 5 V battery, If the anade
is connectad to the positive battery
terminal, the cathode voltage with
respect to the negative batlery
terminal s
(A)y 0.7V
® o03%
(C) 57V
(D) 43V

A diode that has a negalive
resistance characteristic is the

{A} Schottky diode
(B) Tunnel dicde
{C) Laserdiode

(D} Hot carrier diode

Universal gates are
(A) ANDand OR
(B) NAND and NOR
(C) ORand NOT
(D} AND and XOR

Practical solar calls have fill facior
{4) greaterthan

(B) =zero

() 1

{0) lesstihan

158,

160

161,

162.

L L T

In an n-type semiconductor, as

temparature increases, the Ferm

leval

(A) move towards conduction band

(B) move towards middle of forbidden-
energy gap

(C) doas not vary

(D) may or may not shift depenaing
upon the concentration of donor
aloms

Compared to bipolar [unction
transistor, a JFET has

{A) low input impedance

(B} high voltage gain

(C) high input impedance and high
wvoitage gamn

(D) high input iImpedance and low
voltage gain

Sacand order reflection from (1 0 0)
plane should satisfy the following
Bragg condition

(A) dg8ind=4
(B] dygsinG=2%
The transformation G = g™cos(np) :

P = g™ sin(np) represents a canonical
transformation for

(A} m=1n=2
B m=),.n=2
{C) m=2 n—l
C) . >
DY m=2n=1

Latest Sarkari Jobs, Govt Exam Results,
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1535,

156.

157

158.

SO 0T AT e

J-K T8 g 3 S-R ffem wafa
we sriare s g

() T e

(B) == FEm

(C) =& w1 wEn

(D) T FE

us fafemm etz 1kn whous afi
gy @z & =s@en 1 2 | afE gemi( )
w1 420 & e fo g e e g, @
28l & woens ot & Teed O o
(&utE) deew 2

(A) 0.7V

(8) 03V,

c) 87V

(D) 43V

e Uiy e sEE e
(A) izl ETTE

(B) ¥ =R

(C) o EEE

19) AT L LA
JFadaizEn g

(A) AND 311 OR

(B] NAND 31 NOR

(C) ORSMNOT
(D) AND 37 XOR

TR 5 T 1 Wi =7 T[0T Bl
(A) 18 AR

(B) TEA

(C} 1

(D) 15HH

159.

160.

161.

162,

-37-
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n-type & TEETETE § W6 T Jg50

#, 0 v '

(8) =R T i g

(B) afsta —F= T it A fiamwa 2

(C) Ad meEaE

(D) T HTI] o T & TR W e
wera B i s e

fowm i oz F ge § JFET ®

EATE

(&) = s s

(B) T TreE oy

(€) = fem afvamn s Srezs am
(D) T= Faw e s Fe 9w

™

(1 0 0) THa= ¥ gH0 F0 yiafamE, @
o1 e ¥ 1 0 w2

(A)  dygo 8inb =k
(B} dyy 8ind =25
(C)
(©)

Q=0q"cos(np) ; P=q™ sin{np) ==
s fafes (Fatf=w) =omm =
AT AT

(&) m=1,n=2
B m=J5 n=2'

200 SING = &

g COSH =4

1
{E:I TTI‘:E I"'I-.E—‘

D) m=2n=1
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163.

164

165.

166,

The momentum of an electron
(mass = m) which has the sama
amount of kinetic energy as its rest
energy s (¢ = speed of light in vacuum)
(A) /3 me
(B) J2Zmec
(€) me
0
Hamillon's canonical equations of
motion are
. i
8 4 =Yg and p =57
B § - -
{ ] q1 -I':l'F'I End FJ1 qu
C) q=22 apgp -4
(C) 4 3y Be=
D s | -
i) g & and p 4,
The entropy of the universe tends fo
(&) a minimum
(B} =zero
{C] amaximum
{0 no particular value as it remains
constant
The particles in a system obeying the

Maxwell-Boltzmann statistics are
(A) only identical

{B] Identical but distinguishable
{C}  only indsstinguishable

(L) dentical but indisfinguishabia

167

168.

169,

T e T

If H iz iaken as the gas conslant per
mole of a gas and N as Avogadro's

number, the Boltzmann's constlant is
corractly related as

(A} RN
(B} RN?
M
(C) A
R
(D) N

The ground state energy of a
Bose-Einstaein gas Is zero. The
number of melecules in the ground
state at a finite temperature is

(A)  maximum, nearly equal lo the 1otal

number

(B} half the tolal number
(C)

(D)

Zaer

nathing can be sald since the
number depends on the temperatue

The etectron in a hydrogen atam with
a radius equal to first Bohr radius has
a velooity equal to (¢ is velocity of light
in vacuum)

(A %
B 15
©) 55
© g
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(8) 1."511'1!5
(C) mo

mc
@ 75
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Hefr 2 188,
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170.

171.

174

A-l-

The maximum number of electrons in
a subshell with orbital quantum
number ' is

(A) (20+1)

(B) (2/-1)

(C) 2(21+1)

(D) 2{2/-1)

The magnetic moment associated
with the first orbit in hydrogen atom is
given by

i,
4 mme

(A)

ahm

(B)

-
™

eh

47m

(C)

4mm
®) “he

The ratio of frequancies of the first ina
of the Lyman series and the first line
of the Balmer saries is

27
(A) 5
27
(B) B
8
C) 27
&
D) 37

176

177

40

173.

174.

T

-— T —.

0 0 YO Y A D
The S! unit of absorbed dose is
(A) Curie
(8) Gray
(C) Roentgen
(D) Rad

The energy of a gamma pholon
amitted during positron-electron
annihilation process s

(A) 3.82MaV
(B) 0.511MeV
(C) 1.275MeV
(D) 1.8MaV

‘Indicate tha dominant process when

1 MeV gamma ray interacts with
carbon target

(A) Photoelactric effect

(B} Pair-production

(C) Compton effect

(D) Annihilation

For most inert gases the average
energy regulred lo produce an
alectron-ion pair Is aboul

(A] 0.38V
(B) 30 MaV
(C) 30 keV
(D) 30eV

A guantum mechanical operator
should be a

(A) null operalor

(B) singular cperator
{C) lineargpearator

(D} non-linear oparator
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170.

1.

172

weffy ey gE 7 A 39 #
FraTet srmrfirs gera A o W B

(A (2+1)
By (27-1)
(C) 2(2i+1)

(D) 2{2/-1)
EETEA WA % TR ¥ O e
b ) g e foem e 8

L
dmime

{A)

enm

®)

h_

© & om

ol &s5m
(D) hea

S #pEer & wEa A ) st
TSI, S % TEe A ) S
S @

£ I

e =

Lz, Jle

(D)

1Tha.

174.

175.

176.

177

JDD-31/PGT-PHYS/X-14

ST O ) S| U
(A) =

(B) T

() =

oy iz

ifefA-TereE g gfEm F T
Featam T S i T &

(A} 3.82 MeV

(B} 0.511MeV

{C) 1.275 MeV

D) 1.8MeV

w4 1 MeV = TR FR oW wEA e
e 2 A T, e R S
En

(A)  UERTITIERIE TR

(B) FH—FemE

(C) T TS

(D} A

s 2 M & o gt - e
W FENEA F & o, AT e
T T Bl B

(A) D.3eaV

(B 30 MeV

(C) 30 keV

(D) 30eV

T FETTI B A R e

(A) 3TFA T
(B) UERHE HTEE
(C) T S
(D) A T
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178.

178.

180.

A

A gquantum mechanical wave function

(A should always be a real function

(B) should always be a complex
function

(C) can be simullaneocus eigen
function of two operators

{0) cannot ba simultaneous elgen
function of two operators

A particle is trapped Inside a thres
dimensional infinite deap potential
well, The width of the potential well
in all disgction is ‘L', The energy of

n

S The
8mL

degeneracy of the leveal is

particle in a level is

181,

182,

183

(A)
(B)
(C)
(D)

2
4

B
8

A simple harmaonic oscillator of mass
my and angular frequency .a is
perturbed by an additional potential
bx3, The first order correction to tha
ground state energy of the osclllator
will be

184

(A}

(8]

(&}
(B

L

The gquantum scattering processes
can be analysed by

(A} Partial wave msathod

(B) The Bom approximation

{C) Boththe above mentioned mathods
(D) The WKE method

Tha Dirac squation

{A) Is valid for relativistic systems

(B} is valid for fermions

(C) explains intrinsic spin of electrons

(D} all the above mentioned optlons
are corract

Choose the incorrect statament.

(A) tha Klein-Gordon (KG) equation is
valid for all bosons

(B) the Klein-Gordon equation is valid
far only spin Zero particles

(C) the KG equation shows emergence
of negative energy eigen values

(D} the KG eguation is relativistically
irvariant

The Fermi's Golden rule is applicable 1o

{A) time independant harmanic
perturbation potential

(B) time independent anharmonic
perturbation potantial

(C) time dependant harmanic
perurbation potantial

‘D) time dependent anharmonic
perturbation potential
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178.

179,

180.

FEII0 qEHT 70 S

(A) EET ARt we A TR

(B) & o wem e =nfen

(C) UHHE 3 IEE 1 UH T B
T

(D) & =T U WH G 6
B HEFA

v #i9 fafidta s w55 v
U 4 0 F e T R | e g
=1eE od B A U R | sm e aeee |

ﬁ%%'mwm%

(A) 2
(B) 4
(C) B
(D) B

My A 31T o Fivig s = v
b 8 &7 BT & | =i ) = et
| | uEelt avft = Trew wEey g
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185.

186.

187.

188,

I1 50 KV is the applied potential in an 189.
¥-ray tube, then the minimum
wavelength of X-rays produced is
(A)" 0.5nm
(B) 2.5nm
(C) 0.25A 180.
{D) BA
Multiplicity of the state ~ D3y is
given by
Ay 1
By 2
c a 191,
D] 4
The normal Zeeman effect is
(A4) Observed only in atoms with an
even number of electrons
(B) Observed only in aloms with an 192
odd number of electrans
(C) Not a confirmation of space
gquantization
(D) A confirmation of space
guantization
The temperature coefficiant of
resistivity for a semiconductor is i
(A) positive
(B} negative
() =zero
{0} none of the above
-14-

| O 0 AR M T g

The Schrodinger equatian is valid for

{A)
(B)
(C)
(D)

a ralativistic system

a non-relativistic system
all kinds of syslems

can not be said

If the probability distribution Is
indepandent of time than the stata of
the systam is said to be

{A) constant

(B} time independent
(C) stalionary

(D) degenerate

Which ane of the following is not
conserved in [}-decay 7

(A) Iso-spin

(B) Parily

(C) Baryon number

(D) Charge

The energy released by the fission of
Uranlum atom iz 200 MeV. The
number of fissions per segond
required to produce 3.2 W of power is
(A1 10
(B) 105
() 1617
(D) 10%

One Bam is

(A) 107 4 e
(B) 10~ ¥ md
(C) 10-2me
(D} 10~ 28'm?
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185, X-Term 2w 4 50 KV &1 woms w]

186.

187.

188,

o mn 2| 18§ Ientea X-Feom
eI ©
(A} 0.5nm
(B) 25nm
(C) 0D25A

(D) SA

ED% A m e et

(A 1

B) 2 .

(C) 3

(D) 4

A Higs fomg 2

(A) HE HEAT % FeragiA alel s | | 192

AT HTAT &

(B) ferm HvE o getagia v WHE |

=i A A
(C) T STt =T STATEA TE
(D) T gfvem w7 suEs

wfwreT % fov sEny sEmE e
TR

(A) HATEOE

(B} R

C) =

(D) FHIHE T

1890
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wrriEm mimm g # ffwdy 2
(A) sk TR

(B) W-smiffmaefi

(C) Tt wrF ugfaT

(D) T =Rl 61 A HEal

g7 ETErET A Ty 1 wEEer
R e R e e B

(4) TR

(B) THT HIHm

(C) =

(D) rTery

p-smers § e @ B Rl wifem w
A a2y

(8) FH-=mEW

(B) wFT

(C) T Hear

(D) =

Ffram & A g e | g g
Fa1 200 MeV 2 | 3.2 W =1 o5 7raw
= o ToI0 v Hee o o v wn

-

LEL|

(&) 1072

(B) 1015

{E:I 1017

D) 10

T A B E
(&) 10714 m2
(B) 107 '8me
(C) 10-24 me
(D) 10~ 28 me
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194. The half lifte of Pa-218 is 3 minutes. 197, An atom emits a photon of

The fraction of 10 g sample of Pa-218 wavelength 600 nm by transition from
left after 15 minute is an excited state of fife time 8x 10~ s,
i I} Ay represants minimum uncertainty
{A) a2 in the frequency of the phaton, the
i fractional width a% of the spectral
8) 16 line is of the order of
Ay 104
1 -8
{C) 54 (B} 10
[E} 10~ 12
. (D) 1016
0] 25

198, Hall coefficiant is
(A] Directly propartional to carrier

i85, 'A:!-: E-,m iz a tensor of rank conceniration

(A 7 . (B} Invarsely proportional to carrier
concentration

B 3 (C)  Indepandent of carriar
concentration

€ 8 (D) Directly proportional to carrner
concentration only at low

D) & temparatures

196. For an electron in hydrogen atom the 199, Afroom temperature, thecurranl in an
) intrinsic semiconductor is due fo
states are characterised by the usual (A) electrons

quantum numbers n, [, m,. The electric (B) 1ons

(C) holes

dipole transition belween any Iwo (D) both electrons and holes

states requires that 200. The main principle used in nuclear
radiation detection used In

(A) A'=0;am =0, £1 Gaiger-Muller countar is based on

(B} Af=+T Am=21 Lt (A) the de:acﬁ.nn e charge carriore
(B) light sensing

(C) Al=+41;am =0, =1 (C} the visualisation of the tracks of the

radiahon
(D) Af=+1; am;=0, +2 (D) some hybrid technigues
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194,

195.

196.

Pa-218 &1 st 3 firme =1 2
Pa-218 = 10 g &9 %71 15 fire @t
T WAE W Eh
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A —
A 35
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—ik
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© =
1

(o) 25
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(&) 7 3

B) 4

(C} 5
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FIEI T A e v e
hqfﬁ'ﬁﬁmmmm#mn,r.m,ﬁ
w3 e B 1 # fEuft & o F fa
Fergefi w3 for srmrw &

{A) AI=0;Am, =0, +1
(B} Al=t)Am=2%1 +2
(C) Af=+1; Am =0 +1

(D) Af=21'Am =0 +2
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197. UF WA 8x10- % off3q wog &

1886,

199.

200,

FEiiua Feafes & e %0 20600 nm

TS 31 Bl Ieatan wr s | uf

Ay wiZ St srgf T =T At

Z9ia 8, A T (Ivigdts)

it heré 4 1/ 7 4 3

(A) 10-4

(8) 10-8

{C) 10-12

(D) 10-18

et T e #
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FIerEE & fem

This booklet conlains 48 pages.
Flaase check all the pages of the Booklst

carafully, In case ol any dafecl, please ask
the Invigilator for replacsemeant of the Boaklat

Directlions : Each question or incomplate
slatement Iz followed by lour alternative
suggesied answears or complallons, In each
case, you are raguired 1o sefect the one that
cormectly answers 1he question or complates
the statamant and blacken (@) appropriaie
cirdle A, B, € or D by Blus/Black Ball-Point Pan
against the question gancerned In tha
Anawer-Sheet. (For YV.H. candidates
correspanding circle will be blackenad
by 1he scribe)

Mark your arswer by shading e appropriale
circle aganst each queskorn. The drcle should

be shaded com withoud leaving any space
The correat of shading Is given below.
Wicng Merho

Viorg Wb | Wiy Metne | Ciames Melton
O®0D|0@0OIORCOINEOO

The Candidate must mark kaher response
dfer carelul consideration

There Is only ona carec! answer la each
gquasiion. You should blacken (@) he gircle
al the appropriate column, viz, A B, Cor D
It you blacken (@) mors then one cimle
agamat any one guestion, the answear will be
Ireatad as wrong. |f you wish o cancel any
argwer, you should complelety erase that black
mark in the clircde in the Answer-Shael, and
then blacken the circle of revisad response

A machime will read the coded infamation
in the OMR Apawar-Sheet, In case the
information |15 incompleteiffarant from the
information ghven in the application form, the
candidatung ol susk sandidste will be traated
s cantallad

Use the space for rough work given In the
Cuestion Booklat anly and nol on the
Argwar-Sheeat

Youare NOT required o mark your answers
In this Booklel. All answers must be
Indicated in the Answer-Shest anly.
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